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Important note:  In the answers, log always refers to the natural log (i.e., ln).  Please continue to use ln in your work.  
(Also, of course, you may have to do a little simplification or factoring to match your answers with the provided 
answers here.  You are also responsible for supplying your own +C's.  I have to conserve my C's; my printer is almost 
out of that ink...)

1) ‡ lnHxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x

 „ x

log2 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ2

2) ‡ H2 x - 1L è!!!!!!!!!!!!!!3 x - 5  „ x

2
ÅÅÅÅÅÅÅÅÅÅÅÅÅ135 H-5 + 3 xL3ê2 H5 + 18 xL

3) ‡ 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅè!!!!!!!!!!!!!!!

‰2 x - 1
 „ x

tan-1 Iè!!!!!!!!!!!!!!!!!!!
-1 + ‰2 x M

4) ‡ 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x Hln2HxL + 4L  „ x

1
ÅÅÅÅÅ
2

tan-1 J logHxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

2
N

5) ‡ arcsecHxL „ x
x sec-1 HxL - log

ikjjjjjjj$%%%%%%%%%%%%%%%x2 - 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅx2 x+ x

y{zzzzzzz
6) ‡ x3 cosHxL „ x

sinHxL x3 + 3 cosHxL x2 - 6 sinHxL x- 6 cosHxL
7) ‡ sin2HxL cos3HxL „ x

sin3 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ3 -

sin5 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ5

8) ‡ 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅHx2 - 4L2  „ x



1
ÅÅÅÅÅÅÅÅÅ
32

J-logHx- 2L + logHx+ 2L -
2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x- 2

-
2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x+ 2

N
9) ‡ "#############5 - x2  „ x

1
ÅÅÅÅÅ
2
è!!!!!!!!!!!!!5 - x2 x+

5
ÅÅÅÅÅ
2

sin-1 ikjjjj x
ÅÅÅÅÅÅÅÅÅÅÅÅÅè!!!5 y{zzzz

10) ‡ x3
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅè!!!!!!!!!!!!!4 - x2

 „ x

-
1
ÅÅÅÅÅ3

è!!!!!!!!!!!!!4 - x2 Hx2 + 8L
11) ‡ x5 - 4 x2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x2 - 1

 „ x

1
ÅÅÅÅÅ
4
Hx4 + 2 x2 - 16 x - 6 logHx- 1L + 10 logHx + 1LL

12) ‡ lnH6 xL „ x
x logH6 xL - x

13) ‡ x - 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x3 - 8

 „ x

1
ÅÅÅÅÅ4

è!!!3 tan-1 ikjjjj x + 1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅè!!!3 y{zzzz +

1
ÅÅÅÅÅÅÅÅÅ12 logHx- 2L -

1
ÅÅÅÅÅÅÅÅÅ24 logHx2 + 2 x + 4L

14) ‡ sec6HxL tan5HxL „ x
sec10 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

10
-

sec8 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

4
+

sec6 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

6
OR

tan10 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

10
+

tan8 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

4
+

tan6 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

6

15) ‡ sin4HxL „ x
1

ÅÅÅÅÅÅÅÅÅ
32

H12 x- 8 sinH2 xL + sinH4 xLL
16) ‡ x + 5

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x4 - x2  „ x

3 logHx- 1L - logHxL - 2 logHx + 1L +
5
ÅÅÅÅÅx

2 Integration_methods_worksheet.nb


